23

®

L=90m
L=290m
L=919.3m

A=9,560
A=24,906
A=11,500

N=1

5,631

H14

H24

2.51

4,981

88.

10

7,365

H14

H27

1.08

4,896

66.

10

4,204

H14

H25

1.19

3,198

76.

10

L=576m(11 )

3,297

H14

H25

1.63

2,528

76.

10

L=1,000m W=6.0(16.0)m

3,043

H14

H26

1.23

2,495

82.0

10

L=3,950
L=5,270m
V=76,300m3

L=2,600m
1

2,200

H8

H30

1.42

1,768

80.4

L=6,200
L=7,800m
V=108,500m3

L=12,400m
21

3,330

H4

H28

1.04

2,928

87.9

7,280

H6

H32

1.24

1,180]

16.2

L=70m
-5.5 L=200m
(-2.5m) L=450m
L=669m
N=1
2.5ha

5,714

28

1.98

4,465

78.

10

L=655m
L=154m
(-2.5m) L=510m
L=1,009m
L=50m
N=1
3.3ha

5,793

58

26

1.07

5,427,

93.7

11

(-2.5m)
L=100m

5,228

H4

H30

1.12

3,800

2.7




